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1. If mean and coefficient of variation of x are

10% and 40% respectively, the variance of x is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dCGHYHyJgTiQ

A 4

B.2

C.16

D.8

Answer:

o Watch Video Solution

2.Range of a variable is affected by change of

A. a) Origin


https://dl.doubtnut.com/l/_dCGHYHyJgTiQ
https://dl.doubtnut.com/l/_pVhOOczn8qbk

B. b) Scale

C. ¢) Both Origin and scale

D. d) Neither origin nor scale

Answer:

o Watch Video Solution

3. In positively skewed distribution.

A.a) mean < median < mode

B. b) mean = median = mode


https://dl.doubtnut.com/l/_pVhOOczn8qbk
https://dl.doubtnut.com/l/_XV7OySu5sI1S

C.c) mean > median > mode

D. d) none of these

Answer:

° Watch Video Solution

4. Sum of squares of first 10 natural numbers

is

A.305

B. 385


https://dl.doubtnut.com/l/_XV7OySu5sI1S
https://dl.doubtnut.com/l/_THWCQUwsxO9Y

C.55

D. 3025

Answer:

° Watch Video Solution

5. For a grouped data with open classes the

measure can be calculated is

A. a) Mean

B. b) Median


https://dl.doubtnut.com/l/_THWCQUwsxO9Y
https://dl.doubtnut.com/l/_UqJpHT9bYg1j

C.c) Mode

D. d) Mean and Median

Answer:

° Watch Video Solution

6. Median of the 7 observations (4, 5, 7, 10, 8, 2,

1) is

A5

B.6


https://dl.doubtnut.com/l/_UqJpHT9bYg1j
https://dl.doubtnut.com/l/_fVkiVo73xiUs

C.7

D.8

Answer:

° Watch Video Solution

7.From Histogram graphically we can obtain

A. a) Median

B.b) Mode

C.c) Mean


https://dl.doubtnut.com/l/_fVkiVo73xiUs
https://dl.doubtnut.com/l/_YrsWu9d2HHYh

D. d) none of these

Answer:

o Watch Video Solution

8.Find the value of x for which z2 — 10z + 28

will be minimum.

° Watch Video Solution



https://dl.doubtnut.com/l/_YrsWu9d2HHYh
https://dl.doubtnut.com/l/_whvIG6RgeADX

9. For a symmetrical distribution @ = 28,

(23 = 46.Find the median.

o Watch Video Solution

10. Give an example of ordinal data.

o Watch Video Solution

11. Find the variance of following observations

30, 40, 50, 60, 70.



https://dl.doubtnut.com/l/_rMNR6SdaCCoL
https://dl.doubtnut.com/l/_qRe3JtO2X9nY
https://dl.doubtnut.com/l/_22sHVau3Vys5

o Watch Video Solution

12. Define relative frequency.

o Watch Video Solution

13. What is Ratio Chart?

o Watch Video Solution



https://dl.doubtnut.com/l/_22sHVau3Vys5
https://dl.doubtnut.com/l/_Uo1qyhRIqkOr
https://dl.doubtnut.com/l/_QJVg5ufQpdLl

14. If AM. and G.M. of two positive real
numbers are 25 and 15 respectively, then find

their H.M.

o Watch Video Solution

15. Prove that

n">1,35 .....cc.....(2n — 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_nmwch2JgWpd5
https://dl.doubtnut.com/l/_TbvFyy4PvIw2

16. State and prove Cauchy-Schwartz

inequality.

o Watch Video Solution

17. Write a short note on histogram of a

frequency distribution.

o Watch Video Solution



https://dl.doubtnut.com/l/_au14Fo0tbfJQ
https://dl.doubtnut.com/l/_GzIMugVwdPc6

18. Prove that Mean Deviation about mean

cannot exceed Standard Deviation.

° Watch Video Solution

10
9. n = 10, Me(x) = 5, Zmi:40,
10

> |z — 5 =25, Z\xz—4|—27 Is the

=1 1=1

statement consistent? Give proper reason
supporting your answer. Also define 71th

Percentile.

o Watch Video Solution



https://dl.doubtnut.com/l/_3TanCyoO3Mt8
https://dl.doubtnut.com/l/_Gu2MF9BCtMlV

20. Prove that Mean Deviation is minimum

when measured about median.

o Watch Video Solution

21. a, b, ¢ are positive proper fractions
satisfying a + b + ¢ = 1. Show that

8abc < (1 —a)(1 —0b)(1 — ¢).

o Watch Video Solution
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